Divide by 100 (C)

Find each quotient.

20 +100 = 98 +- 100 =
18 - 100 = 71 +100 =
84 =100 = 3+100=
3+100= 15+100 =
97 +-100 = 94 - 100 =
84 + 100 = 75+ 100 =
56 - 100 = 58 - 100 =
66 ~ 100 = 36 +~100 =
94 - 100 = 62 - 100 =
68 ~ 100 = 32 +100=
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Divide by 100 (C) Answers

20+100=0.2

18 +-100=0.18

84 +100=0.84

3+100=0.03

97 =100 = 0.97

84 +-100=0.84

56 =100 =0.56

66 ~ 100 = 0.66

94 - 100 =0.94

68 +~ 100 = 0.68

Find each quotient.

98 +~ 100 =0.98

71+100=10.71

3+100=0.03

15+ 100 =0.15

94 - 100 =0.94

75 +100=0.75

58 =100 =0.58

36 +~100=0.36

62 <+ 100 = 0.62

32 +100=10.32
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